Mrs. Gregory & Mrs. Postlethwuite's group —

9a. Jason is making the number 7 ten
times smaller.

£ 10 =

Complete the equation to find the
answer.

?b. Maisie is making the number 5 ten
times smailler.

+ 10 =

Complete the equation to find the
answer.

10a. Which of the following numbers is
the result of dividing eight by ten?

1.8

10b. Which of the following numbers is
the result of dividing nine by ten?

90 0.9 1.9

11a. Write an equation where a number is
divided by 10 for each of the following
answers.

A. 0.2
B 0.4
C 0.5

11b. Write an equation where a number
is divided by 10 for each of the following
answers.

A. 0.3
B 0.6
C 0.1

12a. Complete the calculation:

e

12b. Complete the calculation:

T







